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P g SR
2 W B #E7E Boal R
By 3% S FI07T4E08 H 04 H eI Dt e/ 79 kv (Biir)
fh 4 JE Hh & Wae | %K E=E = A T fE g2y ]
IENE AbE 10. 00| AHxf 250 2,500 2,419 2,004 1,188
H X E B 15. 00 | #H%f 350 5, 250 864
X 5D BOE 10. 00 | AH%F 400 4,000| 1,004 824 540
H % o 3. 00| FHxf 89 267| 1,404 1,123 972
i A ] 1L 1. 00| FHxf 235 235 864 632 432
&= | 500 FE%F| 5| o5 | 2,700
AN ™5 5. 00| FHx%f 356 1,780 2,268 1,902| 1,080
ENIE 0.50| #xt | 2, 017] 1,009 184 136] 108
N 0.40| fxt| 2,120 gag|  173] 57| 97
= O 4. 00| AHxf 1,473 5,892 1,836| 1,356 756
[ I\ =% 5. 00 | #H 5t 1,473 7,365 1,890| 1,418 648
e %% 0. 15| FHxf 1, 800 270 97 95 92
~7 b~ | AbiEiE 3. 00 | FH %} 1,192 3,576 2,592| 2,275 1,620
(= AbiEiE 0. 10| #H%f 40 4 259
= o | 2.00 #ixk| CI 38| 2,376  921| 540
H ik w5 5. 00| FH%f 180 900| 1,944| 1,764| 1,512
5 F b 10. 00 | #H%f 7 70 5, 400
£ A L 10. 00| AHxf 714 7,140 1,728| 1,532 648
L&A £ B 10. 00 | AH%F 471 4,710 2,376 1, 404
P=—lH A & ¥ 4. 00| FHxf 560 2,240 2,484| 1,695 972
T AINT F I 0. 10| #H5%} 726 73 216 128 86
+Lxon =St 4. 00| FHxf 3 12 6, 480
AEHEE w5 0. 10| #Hxf | 2,450 245 157 106 65
ZDXH E % 0. 20 | FHx} 1, 200 240 54 49 43
LU &k B 0. 20 | FHxf 150 30 70
AA ha—yv £ B 5. 00| FH%F 528 2,640 2,106 1,526 1,080




1D:1210 p- 2

P g SR
2 W B #E7E Boal R
Rz AFI07T4£08 H 04 H HEIDTA v 15~ (Biir)
fh 4 JE Hh = (M| E=E e T fE g2y ]

=K w5 10. 00| AHxf 61 610| 10,025| 8,976| 7,128

e i 5 H 10. 00| AHxf 20 200 9, 720

Bk A4 5. 00| FH%F 384 1,920| 6,480| 3,946

v —x ] 1L 2. 00| FHxf 50 100 3,240 3,024 2,700

% A4 0. 50| FA%f 776 388 562 527 486




